2-X KynayKkoBblA 3aXBaT NapannenbHoro TMna

MHS2

TeXHHYECKHE XapaKTEPHCTHKN

Cpepa OrchunkTpoBaHHBIA CXATHIA BO3MYX, C COAEPKaHMEM unu Be3 copepxaHua Macna
MpuHumn peitcTana [lBycTOpOHHEro geicTaus
Pa6ouasn Temneparypa (°C) -10 ~ +60
TO4HOCTb NO3WLMOHMPOBaHUA (MM) +0.01
Lvamerp (mMw) 16 20 25 32 40 50 63
Ynepwusaiowee yeunve (H) npu 0,5 MMa| 21 37 63 111 177 280 502
Xog oTKp/3aKpbiT (MMm) 4 4 6 8 8 12 16
Pa6ouee fasnexue (MMa) 0.2~0.6 0.1~0.6
Makc. paboyas 4actora, LWKnoB B MuHyTy| 120 60
Bec (r) 58 |96 |134 265 |345 |515 |952
Homep ans 3aKasa
Homep nona aakasa Aunametp Homep ana sakasa
3axsata nopwia, (Mm) | pemkonnexta (noa.10-13)
| MHS2-16D 16 MHS16-PS
MHS2-20D 20 MHS20-PS
MHS2-25D 25 MHS25-PS
MHS2-32D 32 MHS32-PS
MHS2-40D 40 MHS40-PS
MHS2-50D 50 MHS50-PS
MHS2-63D 63 MHS63-PS
Kpurepun Bbibopa
Touka 3axeara Touka 3axeara MHS2-16D
30 - :
— - . = T~ 0.6MPa
I 5 0] g 2 — 05w
(1 y{ — E 20 — r
| il : = 0.4MP.
- - e S N
I 1 = - 0.3MPa
T = _— T e ———
» Yoepkusaiowee ycunve(F), npeacrasnenHoe L L 2 1 P
Ha rpatukax, ABNAETCA CWNON N N e §_ T e i
[eifcTBYIOLLEl CO CTOPOHbI OFHOrO Kynauka 3axsar cHapyxu 3axsar WaHyTpK =
Ha 3axXBaThiBaeMylo feTans, L -nnevo aaxeara
e He pekoMeHayeTca UCTIonb3oBaTh 3axsaThl Ha AaBneHuAX BonbluuX, YeM ykasaHbl Ha rpacdukax, B 5 10 15 20 25 30
T.K. 370 MOXET NPUBECTM K NONOMKE 3axBarta. Mnevo aaxgara L (mw)
MHS2-20D MHS2-25D MHS2-32D
I T, i
_® | 100 | 150 ~——]_ coura
= S 0.6MPa o oemra || [Z 0 —
o ® 80 — ~_ | ® 120 ——__0.5MPa
s 10 _"""‘--..___E’wpa s ~—_0.5MPa g 0.4MPa
2 S &0 s m— - 2 a0 L
% (AMFa.— g_ ——|_04MPa 8 I 0.3MPa
— 40 T m— { 60
g§ 2 | 03MPa § T t———1__0.3MPa g 0.2MFa
S -—__‘-'-——_-__ . = _‘-—-l—_._.____‘_‘__-__ 3 = I
g R — i § 20 L §. 30 0.1MPa —T1
& 4 = |
0 10 20 a0 40 0 10 20 30 40 0 10 20 30 40 50
Mneyo saxsara L (Mm) Mnevo 3axgata L (Mm) Mnevo saxsara L (mm)
MHS2-40D MHS2-50D MHS2-63D
250 1 400 l ! ] f
[ J = | 1
= i N | o R e
g 20 =] e £ am o 2 - 0.5MPa
g . L 0 g; ———1—__0.5MPa s B O
2 150 m— 1 o > 400 —————|—0.4MPa
® S §_ 200 fuigiao AN a T
§ 100 ; —— | 0.3MPa % 1 | 0.3MPa —0.:iWIPa-_
E — L | oawmpa E . 0.2wPa | | £ 200 o izmpu 1
a 5 ' 0.1MPa g 0.1MPa g 0.1MPa
= = = |
o 10 20 30 40 50 0 20 40 &0 0 20 20 60
Mneyo 3axsata L (Mm) Mnevo saxeara L (Mm) Mnevo aaxsara L (mm)

630




Komnaums SMC coxpansier 3a coboii NpaBo Ha BHECEHWE TeXHWYECKMX U PaaMepHbiX U3MEHBHWA

SVC.

O

Paamepbi

MHS2-16D/25D

2- (7134 gufopka 6.5 X mybuHa SC

KpenéxHele oTeepcTid

RB

NA

Orkp. DO

Ma3bi ANA KPENNeHns AaTYMNNOB NONDKEHNA

sakp. DC

4-M3x0.5, my6buna peasbs TB

CB

2-X KynayxkoBblil 3aXBaT napannenbHoOro TMNa

P

Peanba ana kpennenus rybox

2H9 + 3.025

P
TO/BOJ, BO3AYXa - 3aKPLITHE 3aXBata

NOABOL BO3LYXA - OTHPWTUE 3aXBATA

MHS2

& VA, my6. VB

@ WA, ry6. 1.5
AA
al .. AB
e [sa]
e | e L 8
l £
S,
E
V| @
<1
FZ FY

4-M4x0.7
rny6uHa peawbu 8

KpenéxHsie oTBepcTHs

MHS2-16D MHS2-20D MHS2-25D
Paamepbi (Mm)
Mogens A | AB | B |cB |DC | DO |EC |[EO [FX [FY |FZ | @ I [ 0 | kK [ NA NB 0 P Q
MHS2-16D 35 | 32 | 30 | 11 | 30 | 34 | 10 | 14 [125]11 3 |25 | 4 [ 10| 4 | 8 | 5n9 Jps| 2 | M3x05 | 6
MHS2-20D 38 | 35 | 36 | 13 | 36 | 40 | 12 | 16 [145|13 | 3 [27 | 5 |12 | 5 | 10 | 6h9 Jqs0| 25| Msx08 | 7
MHS2-25D 40 37 42 15 42 48 14 20 |17 14.5 5 28 5 14 6 12 6h9 030 M5 x 0.8 8
Mogens RA |RB | sc | ™ VA VB WA XA XB
MHS2-16D 18 | 16 | 8 5 |2Hg "985 | o | {7Hg "1 | ang L0 | 5
MHS2-20D 24 | 18 | 95 | 6 |2H9 *§9%5 | 2 | 21H9 *J%?| omg 'R0 | 2
MHS2-25D 26 | 22 |10 6 |3H9 "85 | 3 | 26H9 "}%?| 3He T§9% | 3

631




2-X KyNayKoBbIA 3aXBaT NapannenbHoro THna

MHS2

Paamepbi
CB , . CA
MHS2-32D/40D M5 X 0.8
NOABOM BO3AYXA - OTKPLITHE 3axXBaTa
— &
g2 ||l | L
ge
o8
> |
-3 ]—_
1
M5 X 0.8
-3 L G NOABOA BO3MYXA - 3aKpeITWe 3axsara
2—-—-
2-Z8A soifiopka SB X rny6una 9
Kpené wHele oTBEpCTIA _ AA RA
RA 3 - AB Bb‘ a :
o 35 35
W 1 ] & VA, myb. VB
] &
L _
| -
I I:d iy | |
= R ]
= Eo o mmlse w m
i | o
& £ |
S =
2 b | ¥ =] |
-] 5 |
45 =Q= 200 | 20° 4 - UA, my6uxa peasbul UB
KpenéHble oTBEpPCTUA
Of"p'gg . Fz Yool R
3aKp.
: @ WA, ry6. 2
4-M4x0.7, mybusa peasbu 8
Peasba ana kpenneHus rybok
Paamepbl (Mm)
Mogens AA | AB | B |CA |CB |DC | DO |EC |EO |FX |FY |FZ | G J | L |na | Q@ |[RA | RB[SA
MHS2-32D 44 | 41 | 56 16 | 56 | 64 | 16 | 24 |23 |205| 5 |305 20 |2H9*G| 14 | 11 [ 38 | 25 |45
MHS2-40D 47 | 44 | 62 17 | 62 | 70 | 20 | 28 |265/235| 6 |32 21 [3H9 995 45 | 12 [ 44 | 28 |55
Mopens SB UA uB VA VB WA XA XB
MHS2-32D 8 |M5X08 | 10 | 3H8'09%5 | 3 | 34H9'J%%|3Hg 05| 3
MHS2-40D 9.5 |M6 X1 12 | 4HO*90 |4 [a2He "T%Z [ 4H9 TR70 | 4

632




Komnaums SMC coxpansier 3a coboii NpaBo Ha BHECEHWE TeXHWYECKMX U PaaMepHbiX U3MEHBHWA

o
.

Paamepbi

MHS2-50D/63D

CB

2-X KynayxkoBblil 3aXBaT napannenbHoOro TMNa

M5 X 0.8
ToJBOL, BO3NYXA - OTKPHLITHE 3aXBATA

MHS2

b T | I |
g
HH
[ L
| B
 — N
A
M5 X 0.8
5 Al 6 _|  MopBoj BO3OyXa - 3AKpLITUE 3axBata
M
4-%5.1 ewibopka & 9.5 rnybuxa SC
Kpené xHbie oTBepcTUs - AA = RA
AC AB o
/I
7
& m
2 - s {=-----+ 8
‘ £
2 3
m
= ¥ %
=3
4 - MBx1, mybura peasisl 12
Kpené #Hbie oTBEpCTUA
ls Otkp. DO FZ |
sakp. DC @ WA, rny6. WB
4-M5x0.8, mybuna peasbu 10
Peasba anm kpennexus rybok
Paamepbl (Mm)
Mogens AA |AB |[AC | B |CA |CB |DC |DO |EC |EO |FX |FY |FZ |G || | J | K| L NA NB
MHS2-50D 55 | 52 | 3 [ 70 | 9 [20 |70 | 82| 22 | 34 | 31 |28 6 [375] 9 [ 24 |10 [4H9 99| 2 | 18 | 109 .§ g3 |
MHS2-63D 66 | 62 | 4 | 86 |12 |22 | 86 |102 | 30 | 46 | 38 [345] 7 |44 | 11 | 28 | 11 |6He 90| 3 | 24 |12n9 J4u
Mogens 0o | a [RA | BB |sC VA VB WA wB XA X8 | YC
MHS2-50D 5 |14 |52 | 34| 12 | 4Ho'§0 | 4 | 52He'D04| 2 | 4Ho TJ0%0 | 4 7
MHS2-63D 55 | 17 | 66 | 38 | 14 | 5H9 999 | 5 | 65H9°07* | 2.5 | 5Hg IO 7.5

633




3-X KYNayKoBblil 3aXBaT napannenbHoro TMna

MHS3

216~125

TeXHHYECKHE XapaKTEPMCTHKN

| Cpega OTchunbTpoBaHHLIA CHaTblii BO3AYX, C COfepxaHuem uni 6e3 copepkaHia mMacna
[MpuHuun peiicTaua [BycTopoHHero feiicTaus
Pabouas Temneparypa (°C) -10 ~+60
TOYHOCTL MO3ULIMOHNDOBAHMA (MM) +0.01
Duametp (mm) 16 20 25 32 40 50 63 80 100 | 125
Ynepxusaiowiee yeunue (H) npu 0.5 MMa 14 25 42 74 118 | 187 |335 |500 [750 [1270
[vameTp 8 sakpsitom coctosHin D1 (mm) 10 12 14 16 20 22 30 43 56 60
[uameTp B packpuioM cocTofnun D2 (Mm) | 14 16 20 24 28 34 46 63 80 92
Pabouee gasnexue (MMa) 0.2~0.6 0.1~0.6
Maxke, paboyan yacrora, UMKnos 8 muHyty | 120 60 30
Bec (r) 60 |1oo |14o 237 |351 |541 |992

1850 | 3340 | 6460

Homep ana sakasa | [duamerp Homep gana sakasa
3axsara nopluHA (Mm) | pemkonnekra (nos.10-13)
MHS3-16D 16 MHS16-PS
MHS3-20D 20 MHS20-PS
MHS3-25D 25 MHS25-PS
MHS3-32D 32 MHS32-PS

| MHS3-40D 40 MHS40-PS

| MHS3-50D 50 MHS50-PS
MHS3-63D 63 MHS63-PS
MHS3-80D 80 MHS80-PS
MHS3-100D 100 MHS100-PS
MHS3-125D 125 MHS125-PS
Kpurepun Boibopa

BuiGop Hagnexawei mogenn

A0MKEH OCYLUECTBNATLCA Ha OCHOBAHWW CREmyoWmnX KpUTepnes.

e Bec manunynupyembix getaneii

o KoadhhiMeHT TPEHUA MeXxy 3axBatoM W AeTanbio

e [lpocTpaHCTBEHHAA KOMMOHOBKA feTanei

Pexomenpyertca Bwibparh 3axsar

TakuM o6pasom, utobbl yaepxmsaloLlee ycunue 6o B 10-20 pa3 Gonbiue Beca fetani

634




Komnanws SMC coxpaHsieT 3a co6oii Npaso Ha BHECEHWE TEXHUYECKMX U PasMepHbIX W3MEHeHWi

Kputepun BbiGopa

Toyka saxsara

e Ypepxusaiowee ycunve(F), npeacrasneqHoe Ha rpadmkax,
ABNAETCA CUNOI AefCTBYIOLLEN CO CTOPOHLI OGHOTO Kynayka Ha 3axsaTbiBaemylo getans.

* He PeKoMeHaYeTCA UCNONb30BATL 3aXBaThi Ha AABNEHWAX Gonblumx, Yem yKa3aHsl Ha rpatpuxax,

T.K. 3T0 MOXET NPUBECTW K NONOMKE 3axBara.

3-X KYNayKoBblil 32XBaT NapannenbHoro THNA

Touka 3axeara

E'i_

L Jaxear cHapyxu

Touka aaxsara
—

57_

L Saxsar uaHyTpu

L -nneyo saxeara

MHS3-16D MHS3-20D MHS3-25D
5B s — — 60
= < T~Joswrs = \
g 2 I— N T L = 0.6 MP;
= — = = ! CCAALEL
3 =06 MPa 3 25 0.5 MPa 3 - \
= —~— = e = ' ~=0.5 MPx
%’_ v T ——J0s5MPra g | —~t~J0.4MP» g 30 -\
——— 2 1 103 up; | g T D.4 MPa
§ 10 f— g —t | x
[— 0.3 Mpa § 10 ; | . i = 20 —na N
§ = = —— '—-—E"L‘?_r.uﬂj_?_ E. -\ ,.]..- MPa
& ¢ d.2 MPg — :% 5 I ! ::j: 10 ! ! (.2 MPa
0 5 10 15 20 25 30 0—=% 0 15 20 25 30 35 2 0 20 30 40 50
Mneuo saxsara L (mm) Mnevo 3axsara L (Mm) Mnevo saxsara L (Mm)
MHS3-32D MHS3-50D MHS3-63D
100 _350— 500
-.:E- \ 0.5 MF .:E. ._:_E_
0.6 MPa 200"
g 80! g O{'J g 40[] \_ T
5 0.5 MPa 3250 ] ! 5 0.6 MPa
et “""“-\0 & MP: e T——l05MP:
@ a0; M—-—-Ud MES 200 '-..._______‘_- .6 MPa @ 300 i |
g 0.3 MPa 150 ---_..__m;"' 0.5 MPa % -\-‘-"“?-0_4 V.ll“ﬂ
40 - - ~—_1 200 | |
g 0.2 MPa L b1 lo3mp; g T T——— 03 MPa
& 20 oy g | | 0.2 MPa § 100l ——— | _02MPa
= 0.1 MPa £ 50 01 WPz e —_—l 01 MPe
A | (
- 10 20 30 40 50 0—=0 20 30 40 50 80 70 = 20 40 60 80 100
Mnevo saxgara L (mm) Mneyo 3axeara L (mm) Mnevo 3axgara L (mm)
MHS3-80D MHS3-100D MHS3-125D
[ | | 1,800 |
— 700 f — . =
z —~— | 0.6MPa 0 T 06MPa | T 1600 T = i
B00 — \ | [ ——
g g 800 T — [~ | 21'400 —
0.5MP = 1 0.5MP
§ 500 "'"—-——-.__________-__ a g‘ \\“\-\__‘mepa u1-20‘0 h-—-h-""—*—-......____ L |a
— AMP
g 4o . | $4MPS g 600 e ©1.000 L 04MPs
0.3MPa — ~ 800 — -
§ 300 — g a0 = 0.3MPa | g 600 I s i
= =
& 200 = D.2Fa 5 | u,zml:a £ g || ozwPa
=2 0.1MPa & 200 = 0w & o u.1MiPa
0 20 40 60 B0 0 20 40 60 80 100 i 20 40 60 80 100 120
Mnevo 3axsara L (Mm) Mne4o saxsara L (mm) Mneyo 3axsara L (Mm)

635




Komnanus SMC coxpaxsieT 3a coBoii NpaBo Ha BHECEHME TEXHUYECKMX WU PA3MEPHbLIX M3MEHEHMIA

7 "
ZSVC 3-X Kyna4KoBblil 3aXBaT MapannenbHoro THNA
MHS3

Pasmepsi

CB CA

MHS3-32D~80D p

/" N0ABOR BO3MYXA - OTKPLITHE Jaxsata

Noaeon BO3nyxa - JaKpeuiTUe 3axeara

225
Aa @ VA, my6. VB
6-TA my6una peasbel TB A A8 & WA, rny6. WB
Peasba fans kpenneHus rybok
38 3
S8 S
3 | 2 8|12 o =
TR R | |
o’ Co =0 o)
e e
“‘E’& o =
NB = L s ol
.-Nﬁ.. I G 3 - UA, mybuna peasbel UB
3-@SA srifiopka SB X mybura SC Kpené kHeie oTeepcTMa

Kpené sHbie oTeepeTua

Nla3bl AN KPENNeHus AaTYHKOB NONOIMEHHA

co
%o

Paamepbi (mm)
Mogens A [AB | Ac [ B |cAa |cB | Dc [po | EC|EO|[FX|Fr |FZ |G || Fl L M| NA NB
MHS3-32D 44 | 41 | 3 [ 52| 8 |16 |28 |32 8 |12 |22 |195] 5 [305] 6 | 20 9 |2H9 298| 2 | 14 | 8M .gom
MHS3-40D 47 | 44 | 3 | 62| 9 |17 |31 |85 |10 [14 |265]|235] & |32 7 | 21 9 |3H9 05| 2 | 16 | 8h9 fus
MHS3-50D 556 | 52 | 3 | 70| 9 | 20 |35 |41 |11 |17 |31 |28 | 6 |375] 9 | 24 | 10 |4H9 0™ 2 | 18 [1008 o
MHS3-63D 86 | 62 | 4 | 86|12 | 22 | 43 |51 |15 |23 |38 |345] 7 |44 | 11 | 28 | 11 [6HO 99| 3 | 24 |1209 Boas
MHS3-80D 82 | 77 | 5 |106|135| 27 | 535|635 | 21.5(31.5/475/435] 8 |56 |12 [ 32 | 12 [sH9"0""| 4 | 28 |14m Jus
Mogens 0 P a | R |sA|sB |[sc TA 8 UA UB VA VB wa | wB a [ |y
MHS3-32D 45|M5X0.8 | 11 | 44 |45 | 8 9 [Mex07 | 8 [Max07 | 6 | 3H9 D% 3 | 34H9 099 2 | 3Hg 00| 3 6
MHS3-40D 45|M5X08 | 12 | 53 |55 | 95| 9 |M4X07 | 8 |M5X0B | 7.5| 4He 0% 4 |42H9 0% 5 | 4Hg L0 4 8
MHS3-50D 5 |M5X0.8 | 14 | 62 | 55 | 95| 12 |[M5X0.8 | 10 [M5X0.8 | 10 | 4Ho ‘0090 4 |52H8 074 2 |4HO 9% | 4 |7
MHS3-63D 55(M5%0.8 | 17 [ 76 |66 |11 | 14 |[M5X08 | 10 |M6 X1 9 | 5Ho "3 5 |e5Ho B 25 |SHO'IM | 5 |75
MHS3-80D 6 |RelPTi/8 | 20 | 95 [6.6 [11 | 19 [M6 X1 12 [MB X1 12 | 6HO'0%%Y & [B2H9 'P%q 3 |eH9'"| 6 |9

637




3-X KynauKoBblil 3aXBaT NapannenbHoro THNa
MHS3

Pasmepbi

8 .7, P
/NOAB0A BO3MYXA - OTKPEITHE 3axBaTa

/

MHS3-16D~25D — /

\\
\ P
b
NORBOR BO3MYXA - 3aKphITHe 3axsaTa & WA, ry6. 1.5

6-M3x0.5 rnyGua peass TB ' . /
Peas6a ana kpennenus rybok f 0 VA, my6. A
4 \\W

o
>
@
Q
=
:?
3
-
=)
<
@
™~
=)

Orxp. EO
aakp. EC
|
I_]
X
%
np

K

.025

0

® /

2H9 |
o

3 - UA, my6Guxa peavbu UB
Kpené wHuie oTBEpcTMA

3-iJSA swbopka SB X rmybuna SC
Kpené xHbie oTBEpCTHA

Ma3bl AnA KpennexHa AaTYNKOB NONOMEHHA

e 78 |
\ \ 7 |
\
1\\ N/ t\_n\ |
\\ “’.(\.:‘\ )jm.\:\l |
\%., /\\ '{:,.. % I
LT N e
b \{f’/ |
¥, ><4 !
*%"x_ga» !
s
MHS3-16D MHS3-20D MHS3-25D
Paamepbl (Mm)
Mogens AA [aB [ B [cB [pc [po [EC [EO [RX [Fr [FZ [ G [ I [ J [ K [Na NB 0 P |a | R
MHS3-16D 85 [ 32 | 30 | 11 | 15 [ 17 | S 712511 | 3 |25 | 4 |10 | 4 | 8 |5h9 o3| 2 |M3X05 | 6 | 25
MHS3-20D 38 | 35 | 36 | 13 |18 | 20 6 8 |145(13 | 3 |27 | 5 |12 | 5 | 10 |6h9 fos| 25 M5X08 | 7 | 29
MHS3-25D 40 |37 |42 |15 | 21 | 24 | 7 |10 |17 (145 5 | 28 | 5 |14 | 6 | 12 | 6h9 Jo30) 3 | M5X08 | 8 | 34
Mogens SA | sB|sCc [m UA UB VA B WA YA XB
MHS3-16D 34 | 65[8 |5 | M3IX05 | 45 | 2He *PO%| 2 |17He ‘}'%ang P02 | 2
MHS3-20D 34 | 65 95 |6 | MIX05 | 6 | 2Ho PU| 2 [atHe P oHg 0035 |
MHS3-25D 45| 8 (10 |6 M&X07 | 6 | 3Ho 8| 3 |26H9 B9 gHo T3 | 3

636




3-X KynauKoBblil 3aXBaT NapannenbHoro THNa
MHS3

Pasmepbi

CB

MHS3-100D~125D

B
. MOBOA BO3AYXA - OTKPbITHE 3axeaTa

7

P
NoQBo BO3NYXA - 3AKPLTME 3axXBaTa
6-TA rnyBuHa peasbiel TB AL Y .
\Pe3s6a amn Kpennewn ry6ok AC, ., AB @ VA, my6. VB \\w?,—i“ -2_2"7 @ WA, my6. WB
\ N NS Plci o il
\ A\ o/
\ | //
SOOI
< f),/; ,.;,If—r:f"\‘ -V'-’
G N
- F,f ~ A ¥ "\I\\ \ \
"‘:1 4“’.\ _/ “4. %% _j I;':‘__
o g Y Oﬁ“r : | b1 P r,/rl['\‘
NN b,
& X \‘_\\—}?:::____‘_l__{,q/\_/
o, & \'2 e A -
o> i NS
" f T \ //1}“13
= }/.-'l et
T/ 3- UA, mybuna peasel UB
3-(J8A srifiopka SB X rybura SC Kpené #Hble 0TBEpCTIA
KpenémHoie oTBEpCTUA
Masbl AnA NAaTYHKOB NONOMEHHS
| | L | I|
Al e e s iy e e e I S . | S ——
\ | _I[—._r :?'_f E i | mi_/ e‘?
= | 5 7 | 5~
| ;..r / , \! J."I
;.f 3 ;." | ’/ ."I
\ | (_-;. __// ;-J; | /,- \/‘&;f
P | i i PR 4
\\ 7 R\ /’) ¥ \ | (
s | B _\J\“_f \ ) N __/
\ | R \ N I e o
% N TN h ot T, N -
\ O ( SN
oA N N o ) NNt
r » \\ Y e NN
S NGl
"'.000 v ’
~
R
MHS3-100D MHS3-125D
Paamepsb! (Mm)
Mogens AA | AB | AC | B [cA [ cB [DC [DO [EC |[EO [FX [FY [FZ [ @ [ | [J | K L M [ NA | NB
MHS3-100D 96 | 90| 6 | 134 |18 |306| 66 | 78 | 28 | 40 | 59 | 54 | 10 | 63 | 15 | 38 | 15 | 8HO '} | 4 | 34 |18h9 fpus
MHS3-125D 122 (114 | 8 | 166 |23.5/38 |82 | 98 | 30 46 | 74 | 68 | 12 | 84 | 18 | 52 | 21 [10H8 86| & | 40 |22h8 {osp |
Mogenb 0 P Q| R [ sA] sB|[sC TA B UA uB VA VB | wa WB | XA X8 |
MHS3-100D 75 [Re(PT)1/4 | 23| 118 | 9 |14 | 21 | MBX125 | 16 | MBX1.25 | 16 | BHE'D%%| 6 [102HO'DU| 4 | 8HY DO | 5 |
MHS3-125D 105 [Re(PT)3/8 | 31 | 148 | 11 | 175 34 | MIOX15 | 20 | MioX15 | 20 | 10H9*§%%% | 8 [130H9'}'®| § [10H9 *§036| g |

638




o4

4 Finger Parallel Style Air Gripper

Series MHS4

Size: 16, 20, 25, 32, 40, 50, 63

Refar to page 12-13-25 for solid
piact 15 state switch with pra-wire
connactor.
How to Order WMhZ
Bore size MHE
AEErFH MHS 4 —20 D—M9N MHL
Bore size lT&ction + Number of auto switches —
Number 16 | 16mm D | Double acting Nil 2 pes. —MHR
of fingers 20 [ 20 mm 5 1 pe. —
4 [4fingers 25 | 25 mm Auto switch MHK
Hil | Without auto switch (Built-in magneat)
+ For the applicable auto switch modal, refer to the table balow.
Applicable Auto SwitchiRefer to page 12-13-1 for further informetion on auto switches MHC
Autto switch model [Lead wire length {m)* i .
Type| Special |Electricallindicatcr| Wiring | Load vohtage F en;:jr:v = e ‘5”" Jlexible | applicabls | Pre-wire  ——
function | entry | Wt | (Outeut) ™56 T"3C Jrerponaiua] Indine | (il | L) | @) |  &1) load | connecter | {IHT
AWire N E—
% iNPM) 5Y MSNV [ MSN ¢ @ ] Ic 8] MHY
— 2-Wire 12V Mapy MoP . Standard circuit]
= grommet| ves | (FMF) | oy _ et Felay MHW
8 MsBV | MoB | @ | @ | O PLC 0
= .
= [Water rasistant 2-Wire 12V i — —
@ Vo orjor indication) — |FBA | — | ® | O MRHQ
+ Lead wire length symbals: 0.5 m - Mil {Exampla) MoB Mota) Take note of hysteresis with 2-color indication type switches, —
3m-- L {Exampla) MIBL Refar to “Auto Switch Hysteresis"on page 12-7-62. Hs,c_

sm- £ (Example) MaBZ
+ Auto switches marked with a "2 symbol are produced upon receipt of order.

D-
' 2-
Bore size
CEPAEPL MHS 4 —{50/ D—{Y509A
Bore 5izlﬂ TAL-“O“ | « Number of auto switches
32 | s2mm D [ Double asting Ig' 12 EES
Hfu ;illb-EI‘ 40 | 40 mm .
o1 ingers 50 | 50 mm )
4 [ 4 fingars 63 | 63 mm Auto switch

Nil | Without auto switch [Built-in magnet)
+Far the applicable auto switch modal, refer to the table balow.
Applicable Auto Switch/Refer to page 12-13-1 for further ifformation on auto switches

- - = ;
Special  [Electrical | Indicator|  Wiring Load voltage i S""im“h e e Flesdbles Applicabla P ra-wira
Tvre|  function antry light (Output Electrical enfry | o.5 3 5 |load wire \oad connaclor
DC AC |Pependicular| In-line | (NI} [ (L) | &) | 81 .
B-wire (MPH) 5V 12V Y&0A | W5OA L ] L ] IC o
g - S-wire (PNP) ' YIPV | Y7P [ . [ cirouit &)
] 2-wirg 12V Y&0B | Y59B [ ) L o — [
o . . S-wirs (MPH) |24V YTNWV| YTNW | @ . O |Standard)] | (Relay,
Iz Grommet|  Yes . . 3 /| — = R =
W [gE:,EﬁEﬁ%?:m 3-wira (PFNP) 5V 12V YTPWV | YTPW [ 9 8 circuit |PLC %)
% ] ] ¥YTEWV| Y7TBW | & [ ] o [
w [Water resistant 2-wire 12y YTBA —
2-color indication) - - | » o 0
* Lead wire length symbals: 0.5 m - Mil (Example) Y598
IS Symbol _ am-- L (Example) ¥59BEL
| sm-- Z (Example) ¥Y59BZ
I + Auto switches marked with a "0" symbol are produced upon receipt of order.
Mita) Take note of hysterasis with 2-color indication type switches.
" A Refer to "Auto Switch Hysteresis’on page 12-7-62.
i
12-7-55

O
5



Series MHS4

Model/Specifications

Mol MHS4-16D | MHS4-20D | MHS4-25D | MHS4-32D | MHS4-40D | MHS4-50D | MHS4-63D
Bora size (mm) 16 20 25 a2 40 50 G2
Fluid Ar
Cparating pressure (MPa) 021006 | 0110 0.6
Arnblant ard fluid temperaturs {°C) =10 to &0
Repeatability {mm}) +0.01
Mo, eperating frequancy {c.pam.) 120 | &0
Lubrication Mt reuired
Action Double acting
Effoctive gripping |Emrnsl anip 10 19 a1 &5 &g 140 251
force {N) at 0.5 MPa " fintermal grip 12 21 35 81 a7 153 268
Opaning/Closing stroks (mm) 4 4 & 8 8 12 16
Weight (g) (53] 110 154 200 290 590 1,005
Maota) Valuss for @16 1o @26 ars with gripping point L= 20 mm, and for 032 10 083 with gripping point L = 30 mm.
Rsfar to the "Effective Gripping Foree” data for the gripging foree at each gripping position.
Construction
Closed condition Open condition
e @ a2 -ijﬁ‘- /5 /9/"'13‘
Component Parts
Mo | Description Matarial MNota M. Dascription Matarial Nite
(1) | By Alurninum alloy Hard anedizad (% | Bubber magnet Synthatic rubber
7 | Piston Aluminum alloy Hard anodizad @ | Type Csnap ring Carbon steel Mickel platad
3 | Cam Carbon stesl| Heat treated, 5pecially treated i | Piston s=al MER
41 | Finger Carbon stesl Haat treated, Speacially treated it | Riod seal NER
E | Cap Aluminum alloy Hard anodizad i3 | Gasket NER
& | End plata Stainless steal i3 | Gasket MER
(71 | Piston bolt Stainless stesl
Replacement Parts
Dascription MHS4-16D MHS4-20D MHS4-25D MHS4-32D KMHS4-40D MHS4-50D MHS4-63D0 Main parts
Seal kit MHS16-PS MHS20-PS MHS25-PS MHS32-P5 MHS40-PS MHS50-PS MH562-PS PR E]
Fingar Paai6004 PagdE104 PasdiEzid Pagd 6304 P33 6404 Pasda504 P35 6604 [N
Cam P3216043 P3216142 P3316243 P3216343 Pa216443 P3216543 P3316643 Y]
Piston assambly| MHS-a1601 MH5-A2001 MHS-A2501 MHS-83201 MHS-4001 MHS-5001 MHS-E301 ETE

+ Order 4 piecas of fingers for one unit.

12-7-56

ZS\NC



Gripping Point

* The workpiece gripping point distance should be within the gripping force

4 Finger Parallel Style Air Gripper Series M H 84

ranges given for @ach pressurs in the effective gripping force graphs below.

« |f operated with the workpiece gripping point beyond the indicated ranges, an
excassive offsat lbad will be applied to the sliding section of the fingars, which
can have an adverse effect on the service life of the product

Effective Gripping Force

Giripping peoint

Gripping point

* | ndication of effective aripping force

The gripping force shown in the tables
reprasants the gripping force of one fingar
whan all fingars and attachmerts are in
contact with the workpiece. The gripping forcs
of Series MHS4 is the same as Series MHS2
while one pair of opposite fingers is used to
grip the workpiece and the other pair of
fingers is used for positioning.

| Internal grip |

56

f a =
== | E|
[
L L —
Extarnal grip Internal grip MHZ
L: Gripping point distance MHF
MHL
External Gripping Force Internal Gripping Force MHR
MHS4-16D MHS4-16D MHK
15 f [T
= = s
Pressure 0.6 MPa 15 {“'“TU-ETP“—_
- — | . ™
g‘ 10 T 0.5 MPa = ] 0.5 MP | MHC
& | 2 g L ——
g — 10 — 0!4 MPa
& — 0.4 MPa 2 i
§ [ ol P | M
z — | 0 = —t__ | 0.3MPa —
5 ° 1 3 s I — MHY
— 0.2 MPa 1 | | o2mpa "
MHW
0 5 40 15 20 25 a0 0 & 10 15 20 25 &0 o
Gripping point L {mim) Girpping point L {rmm) HHHG
MHS4-20D MHS4-20D Misc.
L] I T | [
[ 50— :
| Pressurs 0.6 MPa \\‘“-EIEBBWE LN D-
— ] — ]
< =
. 20b——F=— lo5MPs - i s 20
8 e B 20—
8 —+— | 04MPa s 04 MPa
=3 — = —] T
= M
% 10 _‘_H-‘_‘_H—‘_"""“— —--U_E,_MPB E 10 _‘_‘_Jj""iia
| Joawe ® L
0 10 20 an ] a 10 20 a0 a0

Gripping point L {rmm)

MHS4-25D
50 i i
a0 H‘"“‘*a__hh_ Pressure 0.6 MPa
i - ]
z — ~ |
] 05MPa
P
—
I
g < 0.3 MPa
5 | o
0 —— | 0.2 MPa
0 10 20 L] a0

Gripping point L {mim)

Grpping point L {rmm)

Girpping point L {rmm)

MHS4-25D
=i =] !
[ Pressure 0.6 MPa

£ @ e
L+
5 a0  — 0.4 MPa—T—
e T
= —
g = 0.5 MPal—
g —t—]__|02MPa

10

0 10 20 30 40

O
5

12-7-57



Series MHS4

Effective Gripping Force

= Indication of effective gripping force

The gripping force shown in the tables
represents the gripping force of one finger
whan all fingers and attachments are in
contact with the workpiece. The gripping forca
of Serias MHS4 is the same as Series MHS2
while one pair of opposite fingers is used to
grip the workpiece and the other pair of

fingers is usad for positioning.

| Internal grip |

12-7-58

External Gripping Force

Internal Gripping Force

MHS4-32D
75 — i
[ Pressurs .6 WP
= &0 ]
= 0.5 MPa
LT — 0.4 MPa ||
£
I a0 i 0.3 MPa
£ 0.2 MPa
5 E—
15 0.1 MPaT]
] - .
10 20 30 40 50
Gripging point L {rmm)

MHS4-40D
125 — i
[==__| Pressurs 06 MPa
["=
~ 00 !
= F—] 0.5MPa
I
E 75 F—=m 0.4 MPa—
2 — 0.3 MPa
& ]
@ 1 | 0.2 MPa
25 — 0.1 MPa

"0 =20 =0 40 &0
Gripging poirt L {(rmrm)

MHS4-50D
200 i i
[~
| Pressure 06 MPa
= 1ml— — 1
S TT—{_05MPa
i I — |
a0 1 |o4mpa
EI W _— I
= —t——] _ |oamPa
g ——
T g - 0.2 MPa
0.4 MPa
20 40 60

Gripgeing point L (rmm)

MHS4-63D
I I
1
0 — Pragsure05 WPa
7 T 1.
=z — | _|o5MPa
L
£ 200 et 0.4 MPa—
= [ =
£ 0.3 MPa_{|
o T e
= o0 0.2 MPa
i 10 ——
0.4 MPa
0 20 40 &0

Gripging point L {rmm)

MHS4-32D
T I
P
75 —Fressure I}i.E MPa|_|
— |
= [~~~ 0.5MPa
i)
p 04 I'i'IP'a
3 e -
£ 45 i
E 1 | 02MPa
& an
= F——tf— | 0.2MPa
1& 0.1 MPa
730 =20 80 40 &0
Giripping paint L {mm)
MHS4-40D
T T T
{25 T=—f  Pressure 0.6 MPa
- _‘_‘—\—-_.\JE\MPS
Z 1w ]
E - T—_| 0.4mMPa
= =
% B . — 0.3 MPs
& —
5 1 | 0.2 MPa
2 — 0.1 MPa|
740 =0 =0 40 &0
Giripping point L {mm)
MHS4-50D
aol_— T ]
[===--]_ Pressure 0.6 MPa
o
Z 150 = _10.5 MPa
E "--.._._H_‘_‘_\_ H
2 100 O e
= 100 F——1— 0.2 MPx
s T ——
& L 0.2 MPa
] - —
0.1 MPa
0 20 40 &0
Giripping point L {mm)
MHS4-63D
| I
| ——t——|__Pressur= 0.6 MPa
500 —— |
z i L0
8 g e 0.4 MPa
2 200
= 0.3 MPa
= T | —
£ 0.2 MPa
@ 100 _‘__‘—I I
0.1 MPa
0 20 40 B0
Giripping paint L {mm)

o7



4 Finger Parallel Style Air Gripper Series MH 84

Dimensions

MHS4-16D to 25D
2034, countarbors dia. 6.5 oWA, depth 1.5

Counterbors dapth 5C (Mounting hale) AA
i ) AB . RA
o oVA, dapth VB
i S
Fim R ;E.r

RB

A
VYA
1 [ LI
7] ]|
I
%}

ofe}] %
ﬁ;\gﬁ
50
b
XA, depth XB
7

2-M4 x 0.7, thread depth 8
{Mounting hols)

{Op=n DO) EF EY Ex
(Closed DC) 1
8-M2x 0.5, thread depth TB cCe .7
Thread for mounting attachment .

Aﬁf (Finger opsning port)
: &

i}

'l: -+

o2

2

T

o]

2] |
g 2 \‘~—p
b I G {Finger closi )

o ingar cloging pon

o

Auto switch mounting groove dimensions (2 locations)
MHS4-16D MHS4-20D MHS4-25D

{ram}
Model Ap (aB| B |[cB|(Dc (Do [Ec|Eo(Fx [FY [FZ| G [ 1 [ 0 | K [NA NE [s] ] Q
MHS3-160 36 |22 [ 50 [ 41 [aa [ a7 [ 13 [ 17 [125[ 11 3 |25 | 4 [10] 4 8 |shodoy |2 [Maxos | &
MHS4-20D 98 |85 [ a6 [ 18 [ a0 | 48 [ 45| 19 (14543 [ a2 |2 | 5 [ 12| 5 | 10 |6h0 30, [ 25 [ MEx0B | 7
MHS54-250 40 [ a7 [ a2 |15 [ 48 [ 64 [ 20| 26 [417 (4458 5 [ 28 | 5 [1a | & [ 12 [eno . [3 [ MEx0a | &8
Mol RA (RB [s5C [ TB VA VB Wa XA XB
MHS4-16D 18 [ 16 | 8 S | 2He#®E | 2 | ATHO M| aHoHlE | 2
MHS4-200 24 | 18 | 05| & |2Ho®™ | 2 |oHa o | oHoe | @
MHS4-25D 26 | 22 [0 & [3Ho*3™5 | a3 [ meHo %] aHod | 3
s 12-7-59
2 SVC




Series MHS4

Dimensions

MHS4-32D/40D

2-958, countarbors dia. 5B
Countetsore depth 8 (Mounting hols) AA .

RA a AB &

I
W 2 E
. L

[
rd oVA, depth VB

M5 x Qna

# (Fingar opsning port)

8-M4 x0.7, thrsad depth 8
Thread for rmounting attachrmsnt

&

g - + — § ':g - + £ %
5K e
A g 2
\ - > l\ 3 _‘E‘
gy ! £
il : = g
T 204, thread depth UB
45 | | @ {Mounting holks)
FZ
[Cpan DO _CB | A oWA, depth 2
{Cloged DC)
:
L

Cpan EQ
Chesd EC
[]
I I:|_
5

= |
- I
A A \
“, M5 x 0.8
. I G (Finger clesing port)
2 M,

Series MHS4 Detailed dimensions of mounting portion of end plate

3-A thread depth B

F?GI%
%‘:’*
| P
L #,K ®) Madsl A B [ aD E
MHS4-16D EE 11 3 0.5
] MHS4-20D N 13 24
| M2 x0.4 0.6
’T 2| = MHS4-250 * 54 15 =7
T | | MHS4-32D 5.2 12 az 0.8
c — MHS4-40D 3 a8
_.L.i MHS4-500 MixD5| @ 24 42 1
MHS4-63D 3z 54
F-F
|:|T||T|:|
Modal AA|AB | B [CA(CEB [DC | DO |EC |EO(RX[FY [FZ | G 1 J L MA| @ |RA [ RB | SA
MHS4-32D A4 | 4 | 6| 2 [16 | 60 | 68 |20 | 22 |22 |zos5| 5 |aos| & | 20 [2Hed™ [ 44 | 44 |28 | 25 [ 45
MHS4-40D 47 | 44 | s2 | 9 |47 | &8 | 74 | 24 | 22 [2es|2as| 8 |az 7 |21 |aret™ [1e [ 12 [4a [ = |55
Maodal SB UA UB VA VB WA XA XB
MHS4-32D g |MEx0B | 40 |3HI*E | 8 | MHo R | gHoR®S | 3
MHS4-40D 95| MEx1 | 12 |4H2'3™ | 4 |4oHo B2 | gHo«R | 4

12-7-60 ZSNC



MHS4a-500/63D

4-05.1, countsrbors dia. 9.5

60

4 Finger Parallel Style Air Gripper Series MH 84

Countarbore -:Iapth SC (Mounting hals) Al
- - AC
4 oVA, depth VB T
v : [ MHZ
¥ f}‘\
) N }4' MHF
I 1 I—
gl weHe{——1 D = ° o
RUc YN e o N _AF | WAL
1 @ 5w @ = o ~— =%
= .
NP N MHR_
=t I
. MHK
20- | ol A-M&x 1, thread depth 12
Q -} Q {Maurting hola) m
) {Cpen DO) . FZ | | FY | FX
(Clssd D) oWa, depth WE MHC
2-M5x 0.8, thread depth 10 —
Thread for mounting attachrment LB, L CA MHT
M5 x 0.8 MH?
(Finger opsrating paort)
l 4 MHW
& —
(=]}
8w @ MRHQ
2 L —
A8
@ Misc.
P | —
r
= I d D_
s, ME x 0.8 20-
1 G (Finger closing port)
-
1A
{mm}
Madsl AM | AB | AC | B [CA [gp |DC |DOD | EC |EO | FX [FY [FZ | G I J K L M [ HA NE
MHS4- 500 =1 52 a 70 9 | 20 T4 e | 2 |38 | M |28 & |[arh 9 | 24 [ 10 |4Ho = | 2 18 [10h2 _E',;GE,
MHS 483D 66 | B2 4 | 88 | 42 |22 [ 84 [407 | 35 | 51 | 28 [345( T [44 11 | 28 | 11 |6HO 970 | & | 24 |12h0 o
Madsl O (9 |RA | RB | 5C Vi VB Wa we XA XB | ¥C
MHS 450D 5 14 [ 52 | 34 |12 |40 5™ | 4 |seHa)®™ 2 | 4HeE™ | 4 | 7
MHS4-83D 5 |47 [ &6 [ 38 | 14 |EHO+®0 | £ |gEHI+)P™| 25 |EHE+2™ [ 5 [ 75
12-7-61

o
3



